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Stoichiometry Review
SCH 4C

1. Balance each of the following equations:
a) Na0O + H.O -»2NaOH

b) K:CO; < KO + CO;

c) PbsN2 + @KCl = 2KaN  + 3PbCl,
d O; +2H0 - 2H0,

e) 2KCl +30, = 2KCIO,

2. Perform each of the requested conversions
a) convert 23.6 g of CO. to an amount (in mol) of CO.
2363 @, x Ml €O = 0.536 et CO,

“TH.otgqeo,
b) convert 8.7 mol of NaCl to a mass in g of NaCl

3.7 mok Nall x 58 41uq Na® - 5084 Na
N ! vl Uq&
c) convert 1.40 mol of CgH120¢ to number of molecules

[ HOwel C, HN_O(. x 6,022 x(0"velec (LH'L% = B, "‘7‘3xf02?4wfu
hnol Co Hltaf? Ce th%
d) convert 1.40 mol of C¢H120s to number of hydrogen atoms
[ HOwmof Céu,z < b 0225 (O * 2 molee C(, 12 g, x 12 H dIZmi_ = [0l x (0 %‘

e}  convert 2.37 x 10* molecules of C.Hs to a mass in g of C.Hs

2. 57;40 Yol GH, x Dol C5 1, x 3008 CH . 1184 4,
é,o’L’Zx(Oz VM&LC “ ' ,MCZH(’



3. What mass of silver chloride will form if 24.3 g of aluminum chloride is reacted.
3AgNO; + AICI; =22 AgCl + AI(NO3)s

2”.33 aﬂ@& x fww-(aefoé X 3m.oeagree x f"'lg'.gzﬂ aqc’é - 7?'53/
133.33q8@, [ motallly | wel dget 3

4. What mass of sodium phosphate is required to form 122 g of calcium phosphate
Z NasPOs +3Ca(NOs)z = Cag(POs). +&NaNO;
1224 Cas (FO4), 3 [ack Cay POy, 2enol N, PO, o 163944 Ko POy _ 128 96
310. [3'6 C“é (m?)z . Ca3(PO ) inod M“& PO({ A)ca G.f

),

5. What amount of lithium carbonate will form from the reaction of 3.42 g of lithium
metal

ZLi + H.CO; = LiCO; + Ho
B,L{ZﬂL{ % twod LY % IML‘izCO_s - 0.246 wmed Lilcob

6.9 ‘13 Ly 2wl Ly
6. What mass of uranium hexafluoride will form from the reaction of 25.0 mol of
fluoride gas

2 UO, +6F2 = 2UFs + 30,

25.0»«&‘:2)( 2wl UF, 352,033(&’:‘, - 26‘(‘303 UF,
bl Fy  \molt UF,

7. What mass of sodium sulphate and what mass of hydrogen carbonate will form
from 65.0 g of sodium carbonate

HS0, + Na;CO; = Na,S0, + H.CO3
6500 Nay €Oy x lomek NayCOy Vol M, S0y 142.05 4 No S0y
105.‘?“3 ”"1(:0_3 (\Molﬁ)a?_as Jmod. Il)42 SDQ .
o 87!”3 Mﬂzsolt

€50 Na,COy x ovel M €Oy Il M3 | 62,03  H,®y
105,449 N2, €03 | wmol Na,c0, Imod W, o,

= 32 O% “szj



8. What mass of aluminum carbonate will form from the reaction of 32.0 g of
aluminum nitrate with 22.0 g of potassium carbonate

2AINO;); + 3K, CO;3 = Al(COs)s  + 6KNO;
32.0q QN0 )5 x lwof GLANOSYy  x Imol@0,(C0,) 5 , 233924 af, (cOy),
213 .@g MW, 2 wot GLAD,), lmag dﬂ2(603)5

':?7.63 012 ((csa)a
22,04 ¥,CO; x ol Ko€0y o Lol AR, (CO5), . 233220 @, (C0,),

138.219q K0,  3wmet K, COy lmek 42,(c05)
< 12.4q at, (co,),
4
9. Determine the maximum possible mass of ammonium carbonate can be formed

from 15.0 g of ammonia and 25.0 g of hydrogen carbonate

ZNHa + HQCO3 = (NH4)2003

15,04 NHy x Ime@ N3 finof (/UH.,)z oy 16.11q (N, ), 0y 42,351 (uﬁ,f)zcoj
l7.04qNHy  2mpl MH, Lot (W), Oy

£2.034Hyc05 1 mol (O lmot (NHY), CO, 7

;Y ;.
J. ’




10.

b)

11.

12.

Yok,

Determine the concentration of each solution
4.5 mol of NaBr is dissolved in 18 L of solution
n =S wmol c="n C= 0.25M
C= 7 v y
- 4.5
z = 2=
V=13 L Ye L
42.5 g of K2CO; is dissolved in 15.5 L of solution
N2 42,5 5 lmk < 6,308 ml K, (05 c=9 C:=0.019% M
138,81, S
C = ? . C - 0;308’
(AN A
V - '5151— J‘S.gL
500 mL of 6.0M H,SO, is diluted to 2.5 L
Cqg = 6.0M : Co> CsVe Cp =2
¥ = 2.
Ug = 500wl > 0 50D, v
c, =" °
v ,
- C = 6.o N X 00 %L
Vp “2.5L ° 2.5L
Determine the mass of sodium sulphate (Na,SQ,) that is required to make 5.0 L
of 2.0 M solution.
_ I wiod,
C= 2.0M n > 20mel x50L
V= 5.0L w > 10,0 mel
Determine the mass of aluminum carbonate (Alx(CQs)s) is required to make 250
mL of 0.0001 M solution
n: ? h=CV
C=0.0001M r\:-O.OUDlvul/LX 0,250 \_
O .ovvo 3, = 0,



13.  Determine the maximum mass of aluminum sulphide that can be obtained from
mixing 300 mL of 0.5 M aluminum chloride and 400 mL. of 0.5 M sodium
sulphide. Which of these two reactants is the limiting reagent.

2 AlCls(aq) +3NasS(aq) = ALSs(s) +4NaCl(aq)

nz 7 n= CU N n=C\

€= 6.5M n© 05wl x03m) C=6.5¢ n= 0,5meh) x 0.400L
= 20w L h o5 &

V= 20w T O I5 et aner, U = 40Dl

L p3oL N 020,

O. IE"V“"( Q!.&& x '\'\40{, a'!)'s) ¥ JsDII-?j aozs_; - “. 33 alzsj

O, 20 mel anzs x 'W{mzss N 150,1'@”«25 = 10, 03 0:1253
Berel Nay S Lol Ny, 5 2 |

Lera
14.  What is the concentration in p.p.m. of gold metal in a 0.0001 M gold(li) nitrate
. o _
solution (Au(NO;)3)7 du (”"3)5 > Ga® s 3 ”03'

0. 0OV mol G (W03 - I mot Au® | 19697 Ou™" ¢ 1000emg - 1.7 g au®"
(A ,Md"'{”oj),; Yol Qu3* |3 , "’“‘”—TC—"" ‘
é 19 7ppm,

15.  What is the concentration in p.p.m. of sodium ion in a solution that is made be
dissolving 0.002 g of sodium carbonate (Na;COQ,) in 750 mL of solution?

Ak, CO,
10593 K6,¢0,  hwol Wa, €O, Imel o't g

T 0:86Bwq Ra'?

75wl x b = 0.750L
111/ TRR
" s
NO"EG%M&NQ = Ll popen Na't

0. 750L.



